Name: Date:

Homework sheet: Alg2H

PEMDAS : (page 41)
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1. Board examples:

© -$ + 35 =25+ s = fio)

®© 5-(%-5)w = 7{/5;5')""*’_}_11

O 135 +45- (1-7) = 24220- (%)
PRap g+ 5= 43
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Problems denoted with ** mark are taken from Exeter Phillips Academy (NH) math curriculum.
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(Book1 19**) Compute each of the following. For some of these, there are two

ways to compute the result. Explain.

a. 3(2+3+5)

3 - (o) ‘«@

b. §(9+s—3)
£ ('i)u) = [:‘r]
c. (9+6-3)+3

PEERSTA

d. 3(2:-3-5)
3 (30)> 1 0|

e. 3+(9+6-3)

3.

(Bookl 8**) Kelly telephoned Brook about a homework problem. Kelly said, “Four
plus three times two is 14, isn’t it?” Brook replied, “No, it’s 10.” Did someone make a
mistake? Can you explain where these two answers came from?
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4. Solve (problems are based on www.chilimath.com ):

a. 2% —-5(10—4? +2)+ (30 -33)
I ¢(10’-‘{)'* (3047)-=
=(6-5-x +3 = [q]

b. (32 -33+9x10)° — 42 + 8 + 32

(s,,z ?E,lxt -——- +q -

- @ ~>~‘~Q~E‘Z\

i l=l=l6e2 =1 ~1{-8+4)

(-3- %-0= i (-a)>

- -1 (-) - 25 +§= 3]
d. (27 =27+ 32 = 26)* + (=7 + 7)° x (~1)
<l7~ ‘%{-Lc)z C");g"(‘l3 3
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